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Pha wrmacology examination D. make curve gf;ess Steep )
E. not affect yow slor2 of curve B 4
Date Name | oo 5
Je If drug x is eliminat:d mainly by mierosmal enzymes,
Multiple-choice questions (one mark for each question) |
having the patient ta'-e luminal for 4 weeks would *
TFPE A, i
“tend  to, s
Each of the question is followed by 5 suggested F
A. make curve A steeper. !i
ch case, | -
z B. make curve A less St 2pe. b
SR ions ¥ : g
f i e C. make curve B steeper. . ]F
'5 *fﬂ D. make curve B less steep. !
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g B H\ E. Not affect the Slope of curve B, %
P ~— R B A - ' . :,
R | “kh 4, 1T drug x has a plasms td of 10 days and is adminis- 5
% o i§
fj F tered every 24 hours, a plateau blood concentration of j
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§1 s 2 - - the drug develops. ﬁ
. - | b
£ ’ : - A. when the amount of drug eliminated in 24 hours equals i
ﬁ._. i A _._.,E‘ - Ih"f
g e * half the daily dose. it
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B. at 40 to 50 days.
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*—-—-—"*w Co at 4 to 5_days.
D. Tpa drug is eliminate ¥ zeroorder kinetics.
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D. at 48 hours. E
E. Neither is correct. - : - . s *
. ’ « HONEe o € above, - -
2e If drug x is eliminated mai by the ki 18 CONRSD- g
. aly by kidney and is 5. Select the incorrect statement regarding ephedrine. |
a weak_acid. alkalinization of the urine would ; '
i A. If produces Stimulation of c.N.§. . 1
- make curve A steeper - ' |
B. If acts in part by releasing catecholamines,
B. make curve A less steep e Peorsoiose ot o et ol
. nge iﬂﬂ .
Ce makp curve B steeper

D It's action is weaker than Adr.
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